Statistics 2: Possible answers
Please note: These are only possible answers, they are in no way definite and in no way complete as full working must be shown using the required step-by-step guide.

Question 4.

c) Parametric.
d) With 95% confidence, we estimate that the projects actual cost was more than the estimated cost, on average, by somewhere between $219.22 and $660.78.

Question 5.

a) Maybe two independent box plots.
b) CI of (13.053, 40.863).
c) Not possible because it is purely observational.
